


SECTION B

Answer question 6 and any other two questions from this section.

6. The table helow shows the number of visitors in '000 10 selected nationg| parke in Kenya for the

years 2006 to 2008, Use it to answer the questions that follow,

Park/Yr 2006 2007 2008
Nairobi 102 93 92
Amboseli 153 156 82
Tsavo 354 372 182
Lake Nakuru 327 347 138
| TOTAL 946 08 407

(@) (i)  Whatis the difference in the number of visitors who visited the parks

in 2006 and those in 2008.
S

(il  Caleulate the percentage increase in the number of @fn’mn who visited

Lake Nakuru National Park between 2006 and 2%@‘.
I

(b) (i)  Drawacompound bar graph to represent thgnumber of visitors to

ety selected national parks in Kenya. Use d@%cale of 1 em 1o represent
LSS 100,000 visitors. &
R T, <

)

Gog
<
‘What s beef ining?

I K\e

§Re factors that favour beef farming in Kenya.
res. of nomadic pasioraiism in Kenya.
‘beef production is higher in Argentina than Kenya.

y beef farming to the economy of Kenya.

ate of Secondary Education, 2017
322

(i)  State three advantages of usin ﬁapound bar graphs to represent
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